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EEPROM

» Electrically Erasable Programmable Read-Only Memory
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ATmegal2d EEPROM

= 4Kbyte (4096 bytes) H|O|E M| 22|
= 102t & O] QI7|/M7] 7hs

» EEPROM 2| X| A H
= O{EYA YX|AE: EEARH ¥ EEARL
= EEARH(SI2| 4H|E), EEARL(8H|E)E &dliA 12
(212 = 4096 bytes)0f| ZX 8H|E O|O|HE MY = U=
= OjOo|H ZX|AE : EEDR
= 27| : EEPROMO]| 215 Zl L|O|E{ & YA| E2tgt
= M7]:EEPROMO| £ O|O|HE Eatgt
= HEE YX|AH : EECR
= EERIE, EEMWE, EEWE, EEREZ2| 47l|2| H|O{H|EE &3l EEPROM
= N|O{5HA =
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EEPROM | X| AH
= EEARH 5! EEARL: EEPROM Address Register

B i6 14 13 12 11 10 -] B
1 - 1 - [ - [eeann | ceanwo [ ceans | ceans | eeann
CEEART | EEARG | EEARs | EEARG | EEARD | FEAR: | EEmmT | EEARO | Eean

T L B 4 4 2 1 o

ReadMVrite H R H R W R AW AW
A R AW AW W AW AW AW
Initial Wakie 0 Q 0 Q X X X X
X X X X X X

= Bits 15..12: reserved
= Bits 11..0 : EEPROM O{EZ{|A
= EEARH(4H|E) + EEARL(8H|E) = 12H| E — 0~4095& X| 77t X|
AKbyte EEPROMS| TAE 7<I’§§3=.F
= EEPROM= E2917| MO F4Z & X[l of &

-
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EEPROM | X| A E]

* EEDR: EEPROM Data Register

Bl

——————— EEDR
Bt Wrile ELwy g g BAY Zh%) HAs HWW
Inatsal 'Wal e i i 0 0 0 0 0 i

= Bits 7..0 : EEPROM G|O|H
= 27| : EEARO| K| HEl F=4A0| EEPROMO|| 23Tl HIO|HE YA B

I} St
| I |

= M7|:EEARO| X|HE =29 EEPROMO| € H|O|EE E2tgt
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EEPROM | X| A E]

» EECR: EEPROM Control Register

il 7 & ] 4 3 2 i O

—— 1 - | - [ [ cene [cewwe ]| eewe | Eene | eecn
Pl Varile F F R B HAN B R HAM
Indsal Wialis i i ] i i) a x 0

= Bits 7..4 :reserved
= Bit3 : EERIE(EEPROM Ready Interrupt Enable)
= SREGE| 7H HIEE 12 dH%t I3 EERIEE 12 25tH
EEPROM Ready QIEHHEE 5{ &%
= EEWE H|E7}00|H OHH =l QI HEVF 2dst

= Bit2 . EEMWE(EEPROM Master Write Enable)
= Bitl . EEWE(EEPROM Write Enable)
= Bit0 . EERE(EEPROM Read Enable)
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EEPROM | X| A E]

» EECR: EEPROM Control Register

il 7 & ] 4 3 2 i O

—— 1 - | - [ [ cene [cewwe ]| eewe | Eene | eecn
Pl Varile F F R B HAN B R HAM
Indsal Wialis i i ] i i) a x 0

= Bits 7..4 :reserved
= Bit3 : EERIE(EEPROM Ready Interrupt Enable)
= Bit2 : EEMWE(EEPROM Master Write Enable)
= EEMWEE 1= 2782t Ct2 4712 clock cycle O|Lf EEWEE 12 &
ot H EEARO| K| E =20 EEPROMO|| HIO|HE A~ A &
» EEPROMO| G|O|Ef 2 7|7t 2t= [ StEQ| X7 EEMWES 02 &

goll=
= Bitl : EEWE(EEPROM Write Enable)
= Bit0 . EERE(EEPROM Read Enable)

2024. 03. 21. 7



EEPROM | X| A E]

» EECR: EEPROM Control Register

il 7 & ] 4 3 2 i O

—— 1 - | - [ [ cene [cewwe ]| eewe | Eene | eecn
Pl Varile F F R B HAN B R HAM
Indsal Wialis i i ] i i) a x 0

= Bits 7..4 :reserved

= Bit3 : EERIE(EEPROM Ready Interrupt Enable)
= Bit2 . EEMWE(EEPROM Master Write Enable)
= Bitl : EEWE(EEPROM Write Enable)

= EEMWEES 12 273%t = 4749 clock cycle O|LH EEWEES 1£ &7
SIH EEARO]| X|HEl 29| EEPROMO| HIO|HE A A &
= Bit0 : EERE(EEPROM Read Enable)
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EEPROM | X| A E]

» EECR: EEPROM Control Register

il 7 & ] 4 3 2 i O

B I O L0 1 M i
Pl Varile B B R HAM
Indsal Wialis i i ] i i) a x 0

= Bits 7..4 :reserved

= Bit3 : EERIE(EEPROM Ready Interrupt Enable)
= Bit2 . EEMWE(EEPROM Master Write Enable)
= Bitl : EEWE(EEPROM Write Enable)

= Bit0 . EERE(EEPROM Read Enable)

. EEREE 12 A5 H EEARY| K| "=l FA2| EEPROMO]| H|O|EH &
AKX H 25Tl HO|E = EEDRO| LA| £ 2HE
. %‘7| H2H S A|7|7| MO EEWEZ} 00| & W7tX| 7|Cteq OF &
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EEPROM | X| A E]

= SPMCSR: Store Program Memory Control and Status Register

il T &1 B 4 i | 2 1 1]

(SPIE | AWWSB |~ | RWWSRE | BLBSET | PGwWAT | PGERS | sPuCSR
RasdWrile AW A M AW R AW AW AW
Initzal Valwa a 1] 0 0 0 a 0 1]

= Bit 0: SPMEN(Store Program Memory Enable)
» T2 22| Zd3t HEO0| H{E= 4712 clock cycle &2F SPM

dds gder

= SPMEN H|E= SPM HHO| 2t2&|H X522 00| =
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EEPROMO|| 27| A X}

N

ZERA T

EEWE H|EZ} 00| 2 W77tX| 7| CtE

SIEEI\I/ISCR | X| A B 2] SPMEN H|EZ} 00| 2 771X 7
C

EEARO| EEPROM FAE £ ﬁ%”*f%*)

EEDRO| EEPROM L|O|E & & (M EfALZ

EEMWE HEE 12 EEWE HEE 02 dH&

474 9| clock cycle O|Lf EEWE HIEE 12 &%
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EEPROMO]| 227| et

Hit T i B d & 2 i o
————Eﬂﬂlmllﬂiﬂﬂllﬁﬂ:
Flead Wrile R AW R AW AW
Inatzal Valwe [ a 0 1] o a X 0
void EEPROM write(unsigned int Jaddr,

unsigned char

) |

while (EECR & (1<<EEWE)) ; @

FEEAR = addr,._
EEDR = data; e,
EECR |= (I<<EEMWE) ;e.

data

EEPROM 34 2 O] E

» EEWE H|E 7} 00| E 7} X| 7| CtE
1<<EEWE = 1<<1 = 0000_0010

BECR |= (1<<EEWE) ;g . . EEARO| EEPROM F=AE £

\ 4
EEWE HEE 12 A%t
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EEDRO| EEPROM E1|0| HE &

EEMWE HEE 12 8™
1<<EEMWE = 1<<2 = 0000_0100

EECH
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EEPROMO]| &7

il T i ] 4 3 2 1 “

— 1 - 1 - 1 - [ cene [ cewwe | cewe Jeene|] Eeca
s rile R F B B HAS A%y R HAY
Indsal Walis i i ] 0 i) a X 0

unsigned char EEPROM read(unsigned int|addr)|] EEPROM —7|<—_+_
{

while (EECR & (I<<EEWE)); @:sssseeees » EEWE H|E7} 00| & W7tX| Z|CtEl
EEAR = addr; @,
EECR |= (I<<EERE);e. e » EEARO| EEPROM A& &
return EEDR; e, e

} w.."’. ...... N EERE HlE% 1; AE_IXo_l_ééll_

‘a

2101 EEDRO| EA| M & HIO[HE 7HX| 11 &4

-
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A 1.
415 1: EEPROM H|O|E{ 1 217

= Proteus

A A
LCD1

U1 LMO16L
20 RESET PDO/SCL/INTO %
24 PD1/SDA/INT1 57
VER XTAL1 PD2/RXD1/INT2 g
=—— XTAL2 PD3/TXD1/INT3 55
51 PD4/ICP1 50
0] PAO/ADO PD5/XCK1 51
WF’A1IAD1 PD6/T1 5 %Qu.l = o e o B
Z{ PA2AD2 PD7/T2 |22 294 RPru BoAB33885
7] PA3/AD3 2
T PA4/AD4 PEO/RXDO/PDI 5 | ml <|v]o r\ImImlo |~
5] PAS5/ADS PE1/TXD0/PDO =T AR
] PAG/AD6 PE2/XCKO/AINO e
—— PA7/AD7 PE3/OC3A/AIN1 5 -—1.9
10 _ PE4/OC3B/INT4 = o O
=71 PBO/SS PES/OC3C/INTS |——
2] PB1/SCK PEB/T3/INT6 BCH =
T3] PB2/MOSI PE7/ICP3/INT7 —'q} -
T PB3/MISO 61
Xl PB4/0CO PFO/ADCO 50
<6 PBS/OC1A PF1/ADC1 [—£5
17 PB6/0OC1B PF2/ADC2 &g
— PB7/0C2/0C1C PF3/ADC3 57
35 PF4/ADC4/TCK %6
5] PCO/A8 PFS5/ADCS5/TMS T
a7 PC1/A9 PF6/ADC6/TDO 7
38 ] PC2/A10 PF7/ADCT7/TDI
55— Pcaan @
0] PC4/A12 PGO/WR 37
1] PC5/A13 PG1/RD N
75| PC6/A14 PG2/ALE [—=
— PC7/A15 PG3/TOSC2 9
62 PG4/TOSC1 p—
25— AREF o

AVCC PEN p—

ATMEGA128
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A

= 1. EEPROM H|O|E{ 2211 Q17|

= ATmegal28= N& ALY [l EEPROMO]| O 20| =0
AUEX BE
—EEPROME X & ARE3%t X| 2015} OF ot

- gl o| ™ Xl.
1. K™= F=2A(0x0000, 0x0001)0| LE(1, ‘2)5 N2t
2. ZEZITO| A[ZF [ 0x00001t 0x0001 F=2=0f O £f0] S0f U=X|
=1ge]
3. XNZotZE(1,2)7} OfL|H EEPROMZ N & AtE5t= A ¢
XM&st AE(1, 2)7t O|H EEPROMS M2 AM238t= Z40]| Ot
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-

= EEPROMZ2| 0x0002 40| HE S+ & 30 Lt H4-E X3
e Ar8% [ EEPROMS| 0x0002 =20 02 &
» HHE =20 OIE{&HE HiAM

+ BIE 5 CIE[YE YUY HOICHHE 5 A Sy 57|

— 2o =
» AHO|O|E &l %2 3145 EEPROMZ| 0x0002 =20 MZ&tst
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A
Al ==1: EEPROM H|O|E{ 11 917

» T

EEPROMS M2 At

rOP

x| 2ol

b

if (check EEPROM())
data EEPROM = EEPROM read|(addr EEPROM)|;
else { .

;wsee@set EEPROM() ; 0x0002

i ;-@data EEPROM = 0; :

Y e 000020 MEE HE 5 A5 93
.:. .................................. > EEPROMO'” EEPROM% X—l% |-_‘Elo|- | élol_l _—T—I_E% %

= 0x00000] ‘'S &
= 0Ox00010f 2°E & =

o > 0000201 02 £(X 2 AIRSIM HES £ 2 F0| 8l2)
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A
Al =1 EEPROM HJO|E{ 2T

» T

EEPROMS X2 AI%HX| 291 A E

if (check EEPROM())

data EEPROM = EEPROM read(addr EEPROM) ;
else {

set EEPROM() ;

data EEPROM = 0;

}
char check EEPROM() { void set EEPROM() {
char data0, datal; EEPROM write (0x0000, "17);
data0 = EEPROM read(0x0000) ; delay (1) ;
delay (1) ; EEPROM write(0x0001, "27);
datal = EEPROM read(0x0001); delay (1) ;
if (dataO=='1l' && datal=='2") EEPROM write(0x0002, 0x00);
return 1; }
else

return 0;

}
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O
<
i
[
m
;
9
N

=
HE +5 AHEE H3std =8

o
o[

& 571

while (1) {
interruptNo = EIFR;
if (interruptNo==0x10) {
interruptNo = 4;
EIFR |= 0x10;

data EEPROM++;
EEPROM write(0x0002, data EEPROM) ;

sprintf(msg, "Current row: %d", data EEPROM) ;
writeString lcd4 (0, 0, msg);

sprintf(msg, "%d checked ", interruptNo);

interruptNo = 0;
writeString lcd4 (0, 1, msg);
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Al =1 EEPROM HJO|E{ 2T

« A

#include <xc.h> if (check EEPROM())
#include <avr/io.h> data EEPROM = EEPROM read(addr EEPROM) ;
#include <avr/interrupt.h> else {
#include <util/delay.h> set EEPROM(); data EEPROM = 0;
#include "stdio.h" }
#include "lcd4.h" sprintf(msg, "Current row: %d", data EEPROM) ;
writeString 1cd4 (0, 0O, msg); delay(l);
void EEPROM write(unsigned int, unsigned char); writeString lcd4 (0, 1, "Program restart");
unsigned char EEPROM read(unsigned int); while (1) {
char check EEPROM(); void set EEPROM() ; interruptNo = EIFR;
if (interruptNo==0x10) {
int main(void) { interruptNo = 4; EIFR |= 0x10;
unsigned int addr EEPROM = 0x0002; data EEPROM++;
unsigned char data EEPROM, interruptNo = 0; EEPROM write(0x0002, data EEPROM) ;
char msg[20]; sprintf (msg, "Current row: %d", data EEPROM) ;
writeString lcd4 (0, 0, msqg);
DDRF = Oxff; // LCD N[O EZE sprintf (msg, "%d checked ", interruptNo);
DDRE = 0x00; // PORTE &3 2L interruptNo = 0;
PORTE = Oxff; // PORTE pull-up &% writeString 1lcd4 (0, 1, msg);
EIMSK = 0x10; // INT4 QIEHEE 3& }
EICRB = 0xd2; // falling edge 2 HEE trigger }
init lcd4(); }
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AlZ5- EEPROM 9!

= Proteus

A A \cpi
LMO16L
U1
20 | RESET PDO/SCLINTO [-22
= PD/SDA/INT1 [—=
55— XTAL1 PD2/RXD1/INT2 [—5=
= XTAL2 PD3TXD1/INT3 [—5=
51 PD4/ICP1 —30
25| PAD/ADO PDS/XCK1 f—= [Y=TE o e oo
25 PAUAD1 PDT1 [—= £8% 2Zw 85833885
T PA2/AD2 PD7/T2 ==
'47_PA3/AD3 2 v—mnl < |wjo hmmlelc-geg
65— PA4/AD4 PEO/RXDO/PDI [—5- =l
<5 PAS/ADS PE1/TXDO/PDO f——
“—| PAG/ADG PE2/XCKO/AINO [—=—
—— PAT/ADT PE3/OC3A/AINT [—2—
o _ PE4/OC3B/INT4 f——
=7 PBOSS PES/OG3C/INTS5 [—o—
KV PB1/SCK PEG/T3/INT6 o =
<5 PB2MOSI PET7/ICP3/INT7 |— 4 -
<7 PB3MISO =
<=1 PB4/0OCO PFO/ADCO |
<5 PB5/0C1A PF1/ADC1 |3
<+ PB6/OC1B PF2ADC2 f—==
—— PB7/0C2/0C1C PF3/ADC3 =
o PF4/ADC4/TCK |25
=5 PC0/A8 PFS/ADCS/TMS [—22
%7 PC1/A9 PF6/ADCE/TDO [—2%
S5 Pc2/A10 PF7/ADGT/TDI
S5 PcaiAn . mm
0] PC4/A12 PGO/WR 37
o PC5/A13 PG1/RD 23
7 PCe/A14 PG2ALE [—=
=5— PCT7/A15 PG3/TOSC2 =
- PG4/TOSC1 |—
= AREF _
AVCC PEN |—
ATMEGA128
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£ 52: EEPROM QUE{H EN

- PR Z2 O
= EEPROM Ready PIE{EHEE AE5I0 EEPROMO| HIO|E{E A 11 Q&
= EEPROM Ready ?IE{HEE AE3517| 9|5l C=2nF 20| 47d5Y of &
1. SREG Z|X|AHQ| 7R HIE % 12 43¢
2. EECR HIX|AEQ| EERIE HIEE 12 HH%t
= EEPROM Ready QIE{H E 9| ISRE E6H EEPROMO]| H|O|E{ & &

char *addr, *pData;

G >'E}EPFuDhAF?eady'O|E1 _Ei@ﬂEH

ISR(EE READY vect) {
if (*pData)
EEPROM write((unsigned int)addr++, *pData++);
else

{"OEECR &= 0:17; 05 [O|E{S EEPROMO| A1 LtA *pDataZt NULLO|
} E|E 2 EERIE HEE 02 4783t ISRO| LI
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. My A

#include
#include
#include
#include
#include
#include
#include

<xc.h>

<avr/io.h>
<avr/interrupt.h>
<util/delay.h>
"stdio.h"
"string.h"
"lcd4.h"

int main(void) {

void EEPROM write(unsigned int,
unsigned char) ;
unsigned char EEPROM read(unsigned int);

char *addr, *pData;

ISR(EE_READY vect) {
if (*pData)
EEPROM write((unsigned int)addr++,
*pData++) ;

else

EECR &= 0xf7/;

}

}

char noMsg, msg[] = "Welcome™;

DDRF = 0Oxff;
init lcd4();

pData = msg;
addr = 0x0000;

noMsg = sizeof (msg) ;
SREG |= 0x80;
EECR |= (I<<EERIE);

while (EECR & (I1<<EEWE)) ;
strcpy(msg, "Goodbye');
addr = 0x0000;
while (EECR & (I1<<EEWE)) ;
for (int i=0; i<noMsg; i++)
msg[i] = EEPROM read((unsigned int)addr++) ;
writeString lcd4 (0, 1, msg);
while (1) ;
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